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PAX @RS 7ay7) | Hmm) | almm) | b(mm) | c(mm) | d(mm) | e(mm) | f(mm) | g(mm) | L(mm) B (kg)
H=1.5 1,500 200 200 300 600 200 150 250 1,995 3,290
H=2.0 2,000 200 200 300 600 200 150 250 1,995 3,790
H=2.5 2,500 300 300 300 600 200 150 250 1,995 5,760
H=3.0 3,000 300 300 300 600 200 150 250 1,995 6,510
H=3.5 3,500 300 300 300 600 200 150 250 1,495 5,440
H=4.0 4,000 300 300 300 600 200 150 250 1,495 6,000
H=4.5 4,500 300 400 400 850 250 150 250 1,495 8,350
H=5.0 5,000 300 500 500 850 250 150 250 1,495 10,510
H=5.5 5,500 350 500 500 850 250 150 250 1,495 11,830
H=6.0 6,000 350 550 550 850 250 150 250 1,495 13,490
H=6.5 6,500 400 650 650 1,000 250 150 250 1,495 17,220
H=7.0 7,000 450 700 700 1,000 250 150 250 1,495 19,960

H4X (EETAyY) | Hmm) | amm) | bmm) | c(mm) | d(mm) | e(mm) | f(mm) | g(mm) | L(mm) oo s
H=1.5 1,500 200 200 300 600 200 150 250 1,995 4,130 4,642
H=2.0 2,000 200 200 300 600 200 150 250 1,995 4,400 5,137
H=2.5 2,500 250 250 300 600 200 150 250 1,995 5,200 6,383
H=3.0 3,000 250 250 300 600 200 150 250 1,995 5,530 6,994
H=3.5 3,500 250 250 300 600 200 150 250 1,495 4,360 5,714
H=4.0 4,000 250 250 300 600 200 150 250 1,495 4,600 6,172
H=4.5 4,500 300 300 400 850 250 150 250 1,495 7,000 9,141
H=5.0 5,000 300 300 500 850 250 150 250 1,495 8,050 10,453
H=5.5 5,500 300 300 500 850 250 150 250 1,495 8,340 11,006
H=6.0 6,000 300 300 550 850 250 150 250 1,495 9,020 11,948
H=6.5 6,500 400 400 650 1,000 250 150 250 1,495 12,490 16,713
H=7.0 7,000 400 400 700 1,000 250 150 250 1,495 13,330 17,903

.]Emixaj (B%h&{ L=1,495mm) (B%E L=1,995mm)
. ] L] R BH= 5 =} B ES1S =
¥1X (mm) (mm) (mm) (kg) TAX (mm) (mm) (mm) (kg)
3mH 2,960 280 1,495 3,110 3mH 2,960 280 1,995 4,140
4mH 3,960 280 1,495 4,160 4mHA 3,960 280 1,995 5,530
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